Athys A4696.. A4699..

Produced from: April 2010

max. 45 ‘ @30

.o

SL bidet mixer,

with flex. hose
chrome

il

s
e

’a

+
70

'

max. 180

A4699AA

-«— 150
N
155
oY

@63

=

130-50

SL basin mixer,
with flex. hose
chrome

A4696AA

Part- Part-
Pos. Description Number Qty Pos. Description Number Qty.
1 Handle complete A 963 215 AA 1 pcs 10  Ball joint M22x1 H 960 448 AA 1 pcs
2 Headwork closed clockwi. H 960 104 NU 1 pcs 11 Aerator M22x1 H 960 114 AA 1 pcs
3 see pos. 2 12 Escutcheon with o-ring H 960 377 AA 1 pcs on
4 Body 13 Fixation kit H 960 092 NU 1 Set >
5 Thread pin M4x5 DIN916 A 860 466 NU 1 Set 14  Flex. hose M10x1 /@10 A 960 639 NU 2 pcs
6 Spout with seals / 1775mm H 960 137 AA 1 pcs 15 Pull knob with rod H 960 376 AA 1 pcs -
7 Repair set spouts H 961 578 NU 1 Set 16  Bracket H 960 103 AA 1 pcs
8 Aerator M22x1 complete H 960 375 AA 1 Set 17 Pop-up waste complete H 3699AA 1 pcs
9 Spout with seals / bidet H 960 447 AA 1 pcs

Athys


https://idealstandard-dily.cz/cs/kartuse-keramicke-vrsky/143-kartuse-ideal-standard-h960104nu-4015234436781.html?search_query=H960104NU&results=1
https://idealstandard-dily.cz/cs/srouby-a-maticky/2646-upevnovaci-sroub-m4x8-a860466nu-ideal-standard-4015413507417.html?search_query=A860466NU&results=1
https://idealstandard-dily.cz/cs/perlatory/1291-perlator-jado-athys-h960375aa.html?search_query=H960375AA&results=1

Athys A4697.. JAD O

Produced from: April 2010

3Hole basin mixer,

chrome A4697AA

Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Handle complete A 963 215 AA 1 pcs 11 Thread pin M4x5 DIN916 A 860 466 NU 1 Set
2 Escutcheon H 960 379 AA 1 pcs 12 Repair set spout H 961 578 NU 1 Set
3 Thread ring G3/4 13 Body with Pipe M10x70
4 O -ring 32,5 x 3 14  Escutcheon with o-ring H 960 377 AA 1 pcs
5 Seal set H 960 628 NU 1 Set 15 Fixation kit with pipe M10 H 960 092 NU 1 Set
6 Fixation kit ( universal ) H 960 279 NU 1 Set 16  Flex. hose G1/2 - M10x1 A 960 505 NU 1 pcs
7 Headwork closed clockwi. H 960 104 NU 1 pcs 17  Aerator M22x1 H 960 375 AA 1 Set
8 Side valve G1/2 closd. clw. A 860 684 NU 1 pcs 18  Pull knob with rod H 960 376 AA 1 pcs
9 Coupling nut complete H 960 013 AT 1 pcs 19  Bracket H 960 103 AA 1 pcs
10  Spout 175mm with o-rings H 960 137 AA 1 pcs 20  Pop-up waste complete H 3699AA 1 pcs

Athys


https://idealstandard-dily.cz/cs/srouby-a-maticky/2646-upevnovaci-sroub-m4x8-a860466nu-ideal-standard-4015413507417.html?search_query=A860466NU&results=1
https://idealstandard-dily.cz/cs/kartuse-keramicke-vrsky/143-kartuse-ideal-standard-h960104nu-4015234436781.html?search_query=H960104NU&results=1
https://idealstandard-dily.cz/cs/perlatory/1291-perlator-jado-athys-h960375aa.html?search_query=H960375AA&results=1

Athys A4698..

JADO

Produced from: April 2010

@24

Pre-installation kit

H3918NU

Wall mounted Lavy / set 2 / Design parts

chrome A4698AA
-« 204
Part- Part-
Pos. Description Number Qty. Pos. Description Number Qty.
1 Handle complete A 963 215 AA 1 pcs 15 O-ring @46 x2
2 O-ring @26 x2,5 A 860 845 NU 1 pcs 16  Body complete H 960 421 AA 1 pcs
3 Escutcheon complete H 960 515 AA 1 pcs 17 O-ring@24x2,5
4 Sleeve H 960 202 AA 1 pcs 18  Thread pin M5x6 DIN 914 A 963 667 NU
5 Headwork G1/2 right shut H 960 520 NU 1 pcs 19  Thread pin M4x8 DIN 913 A 860 466 NU 1 Set -
6 Built-in body ( Lavy ) 20 O-ring set H 961 578 NU 1 set -
7 O-ring @ 18 x 2 21 Spout cpl. + pos. 20+22  H 960 422 AA 1 pcs =
b
8 Plug 22 Aerator M22x1 complete A 962 495 AA 1 pcs <
9 Nipple complete A 960 250 NU 1 pcs 23  Plaster template
10 O-ring@13x2,5 A 962 728 NU 2 pcs 24 Holder for body fixation
11 Connector 25  Thread pin M5x10 DIN914 A 963 309 NU
12 0O-ring@28x3 A 960 071 NU 2 pcs 26  Nipple G1/2
13 Escutcheon complete H 960 420 AA 1 pcs 27  Coupling nut
14 O-ring@50x3 H 960 966 NU 1 pcs

Athys


https://idealstandard-dily.cz/cs/srouby-a-maticky/2643-upevnovaci-sroub-m5x6-a860603nu-ideal-standard-4015413983037.html?search_query=M5x6&results=1
https://idealstandard-dily.cz/cs/kartuse-keramicke-vrsky/106-kartuse-ideal-standard-h960520nu-4015234610815.html?search_query=H960520+NU&results=1
https://idealstandard-dily.cz/cs/srouby-a-maticky/2646-upevnovaci-sroub-m4x8-a860466nu-ideal-standard-4015413507417.html?search_query=A860466+NU&results=1
https://idealstandard-dily.cz/cs/tesneni/539-sada-tesneni-ideal-standard-a962728nu-4015413574433.html?search_query=A962728NU&results=1
https://idealstandard-dily.cz/cs/srouby-a-maticky/1038-upevnovaci-sroub-m5x10-a963309nu-ideal-standard-4015413642477.html?search_query=m5x10&results=1
https://idealstandard-dily.cz/cs/tesneni/588-sada-tesneni-ideal-standard-ceratherm-a960071nu-4015413954600.html?search_query=A960071NU&results=1

Athys A4700.. JAD O

Produced from: April 2010

3Hole bidet mixer,

chrome A4700AA

Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Handle complete A 963 215 AA 1 pcs 12 Repair set spout H 961 578 NU 1 Set
2 Escutcheon H 960 379 AA 1 pcs 13 Body with Pipe M10x70
3 Thread ring G3/4 14  Escutcheon with o-ring H 960 377 AA 1 pcs
4 O -ring ¥32,5x 3 15  Fixation kit with pipe M10 H 960 092 NU 1 Set
5 Seal set H 960 628 NU 1 Set 16  Flex. hose G1/2-M10x1 A 960 505 NU 1 pcs
6 Fixation kit ( universal ) H 960 279 NU 1 Set 17 Ball joint M22x1 H 960 448 AA 1 pcs
7 Headwork closed clockwi. H 960 104 NU 1 pcs 18  Aerator M22x1 H 960 114 AA 1 Set
8 Side valve G1/2 closd. clw. A 860 684 NU 1 pcs 19 Pull knob with rod H 960 376 AA 1 pcs
9 Coupling nut complete H 960 013 AT 1 pcs 20 Bracket H 960 103 AA 1 pcs
10  Spout with o-rings bidet H 960 447 AA 1 pcs 21 Pop-up waste complete H 3699AA 1 pcs
11 Thread pin M4x5 DIN916 A 860 466 NU 1 Set

Athys


https://idealstandard-dily.cz/cs/kartuse-keramicke-vrsky/143-kartuse-ideal-standard-h960104nu-4015234436781.html?search_query=H960104&results=1
https://idealstandard-dily.cz/cs/srouby-a-maticky/2646-upevnovaci-sroub-m4x8-a860466nu-ideal-standard-4015413507417.html?search_query=A860466NU&results=1

A4701.. A4702..

JADO

Produced from: April 2010

Shower mixer,

chrome A4702AA
X
H 53
v
|
35460
le——103 - 128 —»
e 136-161————»
le————— 150-175 ————m|
G112
G1/2
=
152
137-163 O) > 203
137-163 152 203
} Bath/shower mixer, y M\i}
chrome A4701AA
Part- Part-

Pos. Description Number Qty. Pos. Description Number Qty.
1 Handle complete A 963 215 AA 1 pcs 13 Pull-up knob A 860 776 AA 1 pcs
2 Headwork G1/2 right shut H 960 104 NU 1 pcs 14 Nipple cpl. A 963 519 NU 1 pcs
3 see Pos. 2 15  O-ring @ 17x2 A 860 777 NU 2 pcs
4 Body (bath mixer) 16  Spout
5 Coupling nut G3/4 Coupling nut 17  Cyl.Screw + O-Ring A 860 778 AA 1 pcs
6 O-Ring ©15,60x1,78 A 961 182 NU 2 pcs 18  Aerator cpl. A 860 779 NU 1 pcs
7 Seat M19x1,5 left A 955 094 NU 19  Diverter A 860 780 AA 1 pcs
8 S-Connection A 960 038 AA 20  Nipple with o-ring A 963 651 NU 1 pcs
9 S-Connection cpl. A 860 774 AA 1 set 21 O-ring @ 17x2 A 860 777 NU 2 pcs
10  Sleeve A 860 775 AA 1 pcs 22 Non-return valve A 962 594 NU 2 pcs
11 Rosette + O-ring @32x2,5 H 960 235 AA 1 pcs 23  Back flow preventer
12 Fibre ring A 961 139 NU 2 pcs with non-return valve A 963 287 AA 1 pcs

Athys


https://idealstandard-dily.cz/cs/kartuse-keramicke-vrsky/143-kartuse-ideal-standard-h960104nu-4015234436781.html?search_query=H960104&results=1
https://idealstandard-dily.cz/cs/etaze-a-krytky/2122-pripojovaci-matice-ideal-standard.html?search_query=matic&results=109
https://idealstandard-dily.cz/cs/rozety-stojankovych-baterii-ideal-standard-jado/261-krytka-ideal-standard-a963778aa-4015413760829.html?search_query=A963778+NU&results=1
https://idealstandard-dily.cz/cs/jinde-nezarazene-dily/1177-pripojovaci-fitinka-ideal-standard-a963779nu-4015413754217.html?search_query=A963779&results=1
https://idealstandard-dily.cz/cs/tesneni/163-sada-tesneni-se-sitkem-a955094nu40-ideal-standard.html?search_query=tesneni&results=188
https://idealstandard-dily.cz/cs/etaze-a-krytky/989-rozeta-s-etazkou-ideal-standard-a960038aa-4015413938846.html?search_query=etaz&results=59
https://idealstandard-dily.cz/cs/sprchove-hadice/1978-adapter-sprchove-hadice-a963651nu-ideal-standard-4015413506533.html?search_query=A963651+&results=2
https://idealstandard-dily.cz/cs/zpetne-klapky/508-zpetna-klapka-ideal-standard-a962594nu-4015413571197.html?search_query=A962594+&results=2
https://idealstandard-dily.cz/cs/zpetne-klapky/2366-zpetna-klapka-a963287aa-ideal-standard-4015413629393.html?search_query=A963287+&results=1

Athys A4701.. A4702.. JAD O

www.ldealstandard-dily.cz



	Produced from: April 2010
	SL basin mixer,
	with flex. hose

	11
	3Hole basin mixer,

	10
	3Hole bidet mixer,

	10
	Bath/shower mixer,




